Class:9th

Test:Math

Attempt ......... questions

" In which quadrant of the coordinate

B L st (-5 - 2) 5

plane the point (- 5, - 2) lie: e
a) 1 b) II a) I b) 1I
¢) I d) v ¢) III d) v

> p(-4,3) lies on the quadrant ...... Oy P(-4, 3)
a) 1 b) II a) I b) 1
c) III d) IV c) III d) IV

® Two lines can intersect onlyat  point: ui:*é/ d%“,ﬁ'dd‘ ------------------------ 3 b
a) 1 b) 2 a) 1 b) 2
¢) 3 d) 4 ¢) 3 d) 4

4 The point (- 2 , - 3) lies in quadrant ...... ce VB WS- 2, - 3)
a) I b) II a) I b) 1I
¢) III d) IV ¢) 11 d) v

a) 0 b) 1

c) 2 d) 3

A quadrilateral having each angle-to 90"
1s called:

a) Parallelogram b) Trapezium
c) Rectangle d) Rhombus

7 Distance between Point S(- 1, 3) and
R(3,-2)is:

a) /-3 b) /13
c) /41 d) /2

& Mid point of the points (2, - 2) and
(-2,2)is:
a) (2,2)
c) (0,0)

b) (-2,-2)
d) (1,1)
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How many right angles a parallelogram hag?. U < std_sli.7 5 S oIS

-

a) 0 b) 1
¢) 2 d) 3
B0 et SO

a) LUzl b) S
c) U~ d)

Loblnd R(3,-2)S(-1, 3)b

a) /3 b) /13 -

c) /41 d /2

e B QK (2,-2) HI(-2,2) bE
-¢

2) (2,2) b) (-2,-2)

¢) (0,0) d) (1, 1)



